1.

(a*b?c)® = a®p'c* A W, x—y +z & A7

® -3 @ -2 ® -1 @1



= —4x? x x2y% + x%y?
= 4 X x2X2X2 y3><2
=—4xx8xy0

= —4x8y6

U]X

(-2x)% x x2y3

+(0)? = (222 x 27+ 2%y

L]

2
= 4x? x x%y% = x2y?

_ 4 x x2H22 5 32
=4xx*xy!

= 4x%y




o|J

0|
olig
Nfo

ojn

@ (-2)?x(-2)?2=-16

@® 4x(-2)%=32

@ 9x3%2=3%

® (-2)2x(-8) =-32

® (-3)x (-3)® = -3¢



4. (@) x (B xax bt = a'bM o] JAT 0, xxy o] ZH?

@ 4 @ 5 ® 6 @ 7 ® 8



gk wle] Zol7t 4aQl AHWAL] H3lo] ASE 4, a9 A5E B}
T, A+ B g2 Fatolet.

D S
=%



(x4)3+(x“)2:x2, (yS)b%y9:1’ x8+(x2)c+x:

a+b—c 9 & okt

> L
=%



7. N2 4+ 2Y) & ZHES] 5k

@ 5x10 @ 10x'0 @ 101

@ 10 x 10*+! ® 15x10*



8. W& oo sold AE A= v

ng

315
pouy
Tlo
)

1 2 2
@ (z) > () = o
a

D 4,1,4 @ 4,2,4 ® 4,3,3

@ 4,3,2 ® 4,4,2



9. a:b=3.291 U0 o e a5ar
. : Lz= . (—2a2b)2 .

D R
-



10. o[ ]t

|

ol% N o Pgre 7L

rlo

4a2b% + 2a3b x[ | = 1242b3

D 3a2p2 @ 4a?b® @ 6a*b® D 6a*b: D 6a*b°



